«1879»
«BCES>»
«Q6Cl>
«Q25B»
«QF27»
«QF2F>»
«QF4l>»
«QF49>»
«0F5B»
«Q)F63»
«QF75»
«(0F7D»
«QFB2»

«]13AD»

«Q0FD8>»
«Q0FES»
«QFED»
«QFFF»
«1007»

1025 me$="*":ma$=CHRS(32): 'Markierung Dr

uckersteuerzeichen ein bzw. aus

1760 IF aS=CHRS(224) THEN PRINT#8,CHRS{2

7)CHRS (64) :GOTO 1170

2200 IF tS{(zd4)="t" GOTO 2345

2345 WINDOW 1,80,1,9

2350 IF UPPERS(tS(zd4+1))="A" THEN
8,85(1)::LOCATE 32,1:PRINT meS$;
2360 IF UPPERS(tS(zd+1l))="B" THEN
8.85(2);:LOCATE 32,1:PRINT ma$;
2370 IF UPPERS(t$(zd4+1))="C" THEN
8,85(3)::LOCATE 32,3:PRINT me$;
2380 IF UPPERS(tS(zd+1))="D" THEN
8,s5(4) ; :LOCATE 32, 3:PRINT ma$;
2390 IF UPPERS(t${(z4+1))="E" THEN
8,s85(5); :LOCATE 32,5:PRINT me$;
2400 IF UPPERS(tS({zd4+1l))="F" THEN
8,85(6); :LOCATE 32,5:PRINT ma$;
2410 IF UPPERS(tS(zd4+1))="G" THEN
8,85(7);:LOCATE 32,7:PRINT me$;
2420 IF UPPERS(tS(z4+1))="H" THEN
8,55(8);:LOCATE 32,7:PRINT ma$;
2430 IF UPPERS(tS{z4+1))="I" THEN
8,s55(9)::LOCATE 75,1:PRINT me$;
2440 IF UPPERS(tS(zd+1))="J" THEN

PRINT#
PRINT#
PRINT#
PRINT#
PRINT#
PRINT#
PRINT#
PRINT#
PRINT#
PRINT#

8,s5(10) ; :LOCATE 75,1:PRINT ma$; :LOCATE

75,3:PRINT ma$;

2450 IF UPPERS{(tS(z4+1l))="K" THEN
2.85(11) ; :LOCATE 75,3:PRINT me$5;
2460 IF UPPERS({tS(zd4+1l))="L" THEN
8,85(12); :LOCATE 75,4:PRINT me$;
2470 IF UPPERS(tS(zd+1))="M" THEN
8,s5{(13);::LOCATE 75, 4:PRINT ma$;:
2480 IF UPPERS(tS(z4+1))="N" THEN
8,85(14);: :LOCATE 75,6:PRINT mesS;
2490 IF UPPERS(tS(zd+1))="0" THEN
8,55(15) : :LOCATE 75,6:PRINT mas;

PRINT#
PRINT#
PRINT#
PRINT#

PRINT#
il




